TERMINAL DIAGRAM

150 —————

[3,81]

LINE

LOAD §

[57,53]
MAX.

NOTES:

1. SCHEMATIC SHOWN REPRESENTS CURRENT TRIP CIRCUITS.

2. MULTI-POLE UNITS ARE ASSEMBLED AT FACTORY WITH

COMMON HANDLE TIE.

3. PANEL THICKNESS SHOULD BE 0.04 TO 0.10 INCHES

DRAWING FILE NO.

REV

CA3-B0-24-650-321-C 08-16-17
- [.1782367 - REVISIONS
H < . »
[65,28] DATE DECSRIPTION
E 08-16-17 DRAWING CREATED
—/L
TYPICAL-OPTIONAL—
- "ON-OFF,I-0" LEGEND
- 1850 — =
[46,99]
281 406
[7,14] [10,31]
I 1 35 \
7 O O OFF i O O O | i
‘ I
/ A 7\ 7\ 7\ A
I GO (I
30.0° | 5| | 5| |
1.940 | —60.0° 1.440 (A4 (4 | [2),6423]
[49,28] v [36,58] I 0l ’
2.062
2.500 == % ~ [52,37]
[63,5] N |
" * o fopfoRof "
@ ° L = M = T
!
750 [19,05] J——J
— - 150
[3,81]
- 2.280 -—
[57,91] @ .156 [3,96]
— [ §é5§1014> 2 PLCS PER POLE TYP
760 ~
[19,3] - - - -
(?_ d?_ | A
1
i
| : !
1 |
CIRCUIT SCHEMATIC TIGHTENING TORQUE SPECIFICATION [§é4;88] ! [52é°3672]
ANSI IEC THREAD SIZE TORQUE . ! !
SERIES TRIP #6-32]M3] MOUNTING 7-9-IN-LBS
#10-32 & M5 15-20 IN-LBS
( THD STUDS [1.7-2.3 NM] i (119- 'é- 6!3 — 1
#10-32 THD 15-20 IN-LBS 432 F——F 750
SCREW [1.7-2.3 NMJ 10971  pANEL CUTOUT DETAIL  [19.09]
#1/4-20 & M6 30-35 IN-LBS
LOAD LOAD(LAST) THD STUDS [3.4-4.0] Carling Technologies
[nneicie]tegisitomuiliiiaiiicrsy
TERMINAL HARDWARE R —
PLAINVILLE, CT 06062, USA
TERMINAL | CODE| AGENCY APPROVAL | AMPERE HARDWARE SUPLIED PHONE. (860) 795.6261
DESCRIPTION RATING SALES: SALES@CARLINGTECH.COM
#10-32STUD | 1 ALL .02-50 LOCK WASHER - FLAT WASHER - NUT APPLICATION SUPPORT: TEAM2@CARLINGTECH.COM
M5 STUD 4 ALL .02-50 LOCK WASHER - FLAT WASHER - NUT SROPRIETARY NOTICE
02-80 LOCK WASHER - FLAT WASHER - NUT e C-SERIES
#1/4-20STUD| 3 ALL 81-100 | LOCK WASHER - NUT - (2) FLAT WASHER - NUT | " DISCOSED, REPRODUGED i WHOLE OR IN CIRCUIT BREAKER
P D MANUFACTURIC PURPOSES
oo | o w2 teotwen e | CSEREERET oo
- - - - UNLESS OTHERWISE SPECIFIED
UL RECOGNIZED .02-50 SADDLE CLAMP- FLAT WASHER - SCREW DISCLAIMER o SIONS: '“c')z['(\)’"[\glsﬂ
#10-32 SCREW 2 & 5 UL-489 LISTED .02-50 LOCK WASHER - FLAT WASHER - SCREW MANUFACTURER RESERVES THE RIGHT TO CHANGE |~ S0 — ' -
TUV & VDE CERTIFIED | .02-16 SADDLE CLAMP- FLAT WASHER - SCREW CA3-B0-24-650-321-C c
TUV & VDE CERTIFIED | 16.1-50 LOCK WASHER - FLAT WASHER -SCREW oRODUCT SERIES: C-SERIES .| SHEETT OF |




	Sheet 1
	Views
	new_view_4
	new_view_1
	right_2
	left_3

	Zones
	A1



